EXAMEN GLOBAL PRIMERA EVALUACION - 42 ESO - B

Exercise 1: Solve the following equations:

a) (1point) 3x+4—-x+2=2
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) (2 point) x+1l x-1 =x -1

Exercise 2: (1 point) Rationalize and simplify the following expressions:
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Exercise 3: (1 point) Work out the value of the following expressions:
a) 7.21-107 +245-107 -535-107 =
b) (1.53-107)-(2.4710™):(7.2-107) =

Exercise 4: (1 points) Round the golden ratio @ to three significant figures and estimate both
the absolute and relative errors.

Exercise 5: (1 point) Find the solution of the inequalities:
a) ¥ —5x +9x+9=0
b) x'+5x+20<0

Ejercicio 6: (1 ptos) Find the wvalue of m so that when dividing the polynomial
P(x)=5x —x" +mx—2 by (x+3) the remainderis 7

Exercise 7: (3 points) You better know what to do:
xy=12 %
xt 420 =34

x+2v<=0
3x+yz=-5]

¥ +3x-10=0
¥ —4=0
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GOOD LUCK !



